Static Equilibrium problems
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Find T1, T2, T3 and Θ
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1. In figure P101, the pulleys and ropes are weightless. If weight 1 is 15.0 N, weight 2 is 31.0 N, and the two angles are measured to be Θ = 45.0° and φ = 20.0, determine the value of weight 3. Check that the system is in equilibrium.
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2. [bookmark: _GoBack]Determine the reading on the spring scale to the right as well as the angle Θ for the situation shown in figure 99 above. 
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A 12 kg mass is hung from two cables as shown.
What are the tensions in cables A and B?
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Figure P101
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Figure P99




